

Haz los siguientes ejercicios en tu cuaderno y pon la solución final en el cuadrado.

$$a) -(+5) + (-3 + 4 - 6 - 1) =$$

$$b) + 6 - (7 - 8 + 9) + (3 - 4) + 2 - 3 =$$

$$c) -(8 + 2 - 3) - (-6 + 7 - 1) =$$

$$d) 8 + 10 + (5 - 3) - (-1) - 7 =$$

$$e) - 7 + 2 - (5 + 2 - 1) + (-7 + 3) =$$

$$f) - (-3 - 1) + (-4 - 5 - 6 + 2) =$$

$$g) 14 - (-3 - 2 + 5) + (-9 + 8) =$$

$$h) 21 - 20 - (3 - 5 - 9) - (+5) - 1 - 3 =$$

$$i) - (-8 - 2 + 4 - 6) + (-5 - 3) =$$

$$j) 7 + 10 + (6 - 7 - 2 - 4) - (-3 - 1) + 4 =$$